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This Question Paper Booklet contains 100 questlons out of which 1 to 25 are. of
Hindi Language, 26 to 50 are of Mathematlcs and 51 to 100 are of Mental Ablhty
questlons :
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. In Question Paper Booklet four option (A), (B), (C) and (D) are given for the
answer of each questlon in which only one option is correct. In OMR Answer -
Sheet, darken that circle completely among the given four circles. against each
question, which is the correct opt1on according to'you. -
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" For filling OMR Answer Sheet mstructlons are glven on the back31de of the OMR
" Answer Sheet.
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OMRAnswer Sheetis 10 be submltted to the mv1g11ator at the end of the examination.
The candidates are allowed to take away the question paper booklet with them.

No. of Printed Pages : 24. |}

SEC
» S




BT OIS N

Only for Rough Work

Ll




G &= (HiNDI)

,aﬁéw%wmﬁﬁﬁﬁ%
(A) ==t

(B) @

(C) w&

(D) T

FrefelReg g o af S aof & -
(M) vEASH

(B) THTHAT -

(C) II§HY

(D) ST B

R s el & ¢
() = |

(B) o

(C) &

D) F .

s

. TR T AT T e SR AT 9 e
s, o o
- (A) 9T
(B) BR®
(C) femr
(D) 37

. wder %le&ﬁugﬁ: suwl%
(&) ufr
(B) ¥

(© R

(D) WT

RGNV/19

"SI STSTR STRNTT | ST YT Biet

(A) %i?ffb'lﬁ

'@)jﬁﬁﬁﬂ -
(C) NI BieT

(D) 7 I Bl 8T

&Y ¥R 8l & -
(A) ®

(B) il

(C) 3

(D) =%

o o e d

(A) 3

(B) famqor
(C) T

(D) 3r&TeT

AR T T T
(A) T4z
(B) st

(C) Ry |
w)mﬁ

.m@ﬂm%mﬁmwmﬁ
C(A) oNETeT '

(B) TEEFT
(C) ¥R Yebe | =T

(D) TS

[ Turn. Over]




12,

o
[

"B~ el @i &1 ared | @rar fog

TR B P E
(A) 3w fear -
(B) Wgwo fosar -
(C) TpYa fepam
(D)'%ﬁa‘ﬁ‘cﬁ%m,

%ﬁmﬁm%

ORI

(B) §
(C) &B

T(D)éﬂé

13,

14.

15,

RGNV/ 19

ﬁwﬁf&aﬁsﬁw%‘
(A) gazm -
(B) ga&em
(C) ggam

(D) g

- 17,

18.

G sﬁ%@iﬁm%‘l GlCiz ikt

AR R
(A) W=
(B) fopar faeror
(C) T&m
(D-) R

¥l qul:ramdv $%EBHQF55!E{
&
(A). i

(B) T

(C) =

(D) 3P H I IS =ré‘r

20.

16.

ﬁﬁ%ﬁaﬂﬁ J SHA I Gie -
(A) T

(&) T

(C) agen

(D) @RI

& g9 YRR P AsTHEe | g

T S TG A ¢

" (A) &1 € IR & arsTHEd|

(B) %wmw@‘w-ml
(C) dTSTHEE TIFRR & -1 &8l
(D).Wﬁ%wml

T Wtﬁeﬁﬁ%‘ u%u svzlecz"_

BT RT3 &
(A) BT -

(B) W
(C) o=

(D) B

19.

‘Yo JRRIT §1° T 96T H ‘T
TGN B e & -

(A) STicraTad Sl

(B) TYgarad S

(C) Ygarad s

(D) RHATID el

e T F wfer

(A) ToTEtY

(B) TUT AFef

(C) 3ranfe e

(D) @ wfer




21.

n
pl

ﬁ%&'{(mﬁmmﬁzﬂ %WWWW?WM%Qm%miﬁUWQW&%E?ﬂ%ﬁ_
(Tooe) fofee =

L I BN aii?rcﬁ,*“éiﬂaaﬂ?él qﬁm%ﬁﬁ'"‘%?@mﬁﬂgwﬁtﬁrw
foserr stverr &1 G ST 57 3761 USR §1 <7 U ORI e &, 5181 < 57 ot Toveler ey
el SET ]S 81 FF DY 39 URT H N &% UIe® 31 O Y g, it ol s e
AR 2 | JRIPIe U I &, ?T%%ﬂ%ﬂ?ﬁ%mwd R AT & SUTTE & el

Bl

wﬁﬁﬁmﬁwmﬁgﬂwﬁﬁmvsﬁaﬁaﬁﬁ%fmﬁ*ﬁq

~ éﬁﬁﬁaﬂﬁﬂﬂ?aﬁrm?mﬂ3ﬁ?%ﬁ$wﬁsﬁdcﬁmmﬁ‘iﬁ%nvﬁ BHAD

YR el B
g | fhdsT 9UE fbar ST 2a. mﬁﬂwwﬁﬁ% BRI :
(A) wiEamsias L (A) e e e
©(B) gl o (B) GETBICR eI Hee
(C) st &t (C) dawrr &1 wewm

22.

(D) Frg=eii &t

(D) sitEreR o wET

- TR : . 25. Yo UE I, ST 9 e e

(A) T FE T A -
@™y (A) TEES
o o (B) FM@
(D) e () gEdr
(D) 3T @

. e B 9hy fome g
(A) T+ BT

(B) W&+ |
(C) &I + e
(D) T +TF -

RGNV/19 - S [ TurnOver]




T (MATHEMATICS)

26. W Ufe fo sl o A ¢ -
() 15 o

(B) 20

(C) 25

(D) 30

1 1
27, 5% +§4$rm=r%‘-

.W|l—‘-

(A 15
- 3
(B) 2-5—

1
'(C) 135
(D) 30

.28.'45%,E$HU€$TWTH%¥H§=
" (A) 50%

(B} 25%
(C) 75%
(D) 10%

29.»a%u$aﬁa%rq&qWGOﬁRﬁa‘r3ﬂ
i &1 &reee A

(A) 118 T Hlex
(B) 225 @ Hiex
(C) 226 @i Hiex
(D) 240 @ Hlex
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26. Sum of first five add nurnbers is :

(A) 15
(B) 20
(C) 25

(D) 30

1

E 1 1
. Thevalueof - +=+—is:

27375
(A)'E

®) 23

Y e

(D) 30

. What percentagé of 45 minutes of
.1 houris : ' '

(A) 50%
(B) 25%
(C) 75%
(D) 10% -

. If the perimeter of a square is 60

meter, then the area of that square
will be :

" (A) 118 meter?
" (B) 225 meter?

(C) 226 meter?

(D) 240 meter?




30. i T 25 3ﬂ?30 asrﬁaﬂtrwaﬁﬁ  30. Ifthe HCFof humbers 25 and 30 is

(HCF) 5 81 7 eTger WHTae AL 5, then the LCM will be :
(A) 120 , . (A) 120
© (B) 130 - : ' (B) 130"
(C) 140 ’ . ’ (C) 140
(D) 150 . ' - (D) 150
31. ﬁﬂ?ﬁﬁ I B A JET TE. 90 B - . 31. Which of the foll.o'v'v'ing Romén
TeSa ear & ' _ _ _ n'umeralS represents 90 : -
Ay XM | @A) XM
(B) LXXXX . - (B) LXXXX
(C) XC o | (C) XC
D) CX S ~ - (D) X
32. e 738207 yoa: frifore g - 32. The. number 738207 will be
- . - completely divided by : ‘
A 43 . ) 4
(B) 63 | | - (B) 6
(C) 7% S ' () 7
(D) 9F I (D) 9
33.. T 550 I 2% aIPT 4% TMB ABTD 33, Simple interest of ¥ 550 at the rate of
. Rﬁ?ﬁﬁﬂwmﬁﬂﬂ SR 40/0-peranumf0r;2% years will be:
A zi0 - . (@®zx1wo. |
B) T55 L o (B) ¥ 55
© z44 . - . (C) T44
(D) T 22- E , - (D) T 22
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34. U g ¥ Bromei o He B & -

(A) ae TP
(B) &
(C) IR

(D) 3R

46890 % 4 aaﬁuwraﬁ?mm
ﬁéFﬁ"\’%

(A)
(B)
(©
(D)

4000
40000
39996
39969

i3
100

(A) 0.13

&I EIHAT HIF B -

(B) 1.3

Iy N

38,

L RENVALY

Gy

(C) 0.013
(D) 1.03

4

.dTaﬂmﬂﬁ'EMF'ﬂﬁﬂEm'Eﬁiﬁﬁmq

TGP & :
(A) 0

(B) 1

(€) 2
(D) 3

Tl UI5T 7, HRTOE 153 e ey 1 &,
ar sy Em:

1071

1070

1072

1065

(B)
()
(D)

- 37.

38.

35.

(D).

36.

(B)

RO
(B)

A
(®)

(D)

. The number of radius in a circle is :

(A) - Oniy one
Two
(C) Four
(D) Infinite -

The _differen‘ce between the place
vaiue and face value of 4 in 46890
is : . ‘

4000

40000

39996

39969

(©)

2

100 will be :

The decimal value of

(A) 0.13
() 1.3
(C) 0.013
(D) 1.03

The HCF of two consecutive. odd
numbers is :

(A) 0 .

(B) 1

(C) 2
(D) 3

If the divisor 7, quotient 153 and
remainder is one, then dividend will
be:
1071
1070
1072
1065

(©)
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39. uasi@@gésa-ﬂ%ggﬁﬁ% -39

(A) 1
(B) 2.
(C) 3
(D) 4

40. QT BT H po B AF BT : 40.

(A) .73°
(B) 60°
(C) 500
(D) 459

41. oNEET % UM 300 TG | I 5P 41,

-g— I ¥ UH T TRIG! | TS DY
PHIEd T o

(A) %120

(B) %60

(C) ¥ 150

(D) T 180

42, a%%gwaa%awéﬁ\grgfeaﬁlaé 42,

. TWRT: 20 [, 15 I, o 5 9L &,
AR BT A .

(A) 300 T 9.

(B) 300 2.

(C) 1500 .

(D) 1500 BT 9. |
' RGNV/19 T 9

The end points of a line segment -
are : “
(A) 1
(B) 2
(©) 3
(D) 4

In the givén*ﬁgure, value of p° will
be :

(A) 730
(B) 600

(C) 50°

(D) 450

Shahil had % 300. He bought a book
from its % part. What was the price
of the book : -

(A) T 120
(B) T 60
(C) % 150
(D) ¥ 180

If the length, breadth and thickness ,
of a book is 20 cm., 15 cm. and
5 cm. respectively, then the
volume of the book will be :

(A) 300 cm3. - .

(B) 300 cm.

(€) 1500 cm.

(D) 1500 cm?3.
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45.

U oty ure: 7 95163 30 e ')
aR¥ 8 21 afe 98 5 9ve 35 fFe

T T &, A fomera & a8 89 &1

T ®

(A) 12 : 35 3TRE
(B) 1 :553WRE
(C) 1: 05 3G
1 50 3RTE

E_{.l_-.i % E.}..lé. ‘ )
575710) (45 "5 ) P WRXCAH

wd
66
15
76
15
65

15
75
15

(B)

TEDIVT BT & -

(A) 90° & W

(B) 180° & SRIEX

(C) 180° ¥ 31fere, vd 360° q &H

(D) '9(56 B

. i & <t ot i O &

(A) 1
(B) 2
(€ 3
(D) 4
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43.

44,

- (A)

45,

46.

(A).
(B)

A school starts at 7:30 AM, if it
works 5 hours 35 minutes, what

time does it close :

(A) 12 : 35 PM
(B)' 1 :55PM
(C) 1:05PM
(D) 1:50PM

Simplest form of

By 2 N [ER, B8
55 10) \45 5)°¢
66
15
76
15
65
15
75
15

(B)
()

(D)

Reflex angleis :

Equal to 90°

Equal to 180°

More than 180° and. less than
360° ‘

Less than 90°

(C)

(D)

The number of ve_:ftices in a cone
is: ’

(A)
(B)
(©)

1
2
3

(D) 4
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48.
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(A) 143,

(B) 11 9.

(C) 10 3.
(D) 12 9.

U BR B T 20 Te/Apoe ¢, 98
288 T35l o gl g R

(A) 2898 H

(B) sguved

(C) 4°odH

(D) 59 H

49, zﬂ%aﬂW?%OﬁﬂT%ﬁﬂﬁW

50.

A) 9=

% 600 &, A o Hfren e

1
i1
1

‘ 1
(C) 447

1
11

(8) 577

(D) 345

(A) TS « TIE Vﬂé

(B 2 (e . i)
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(©) (e + TlSK) « Foi
(D) & & BIE Tl

47.

icm.

48.

49.

50.

|

. (©)

(A)
- (B)

In the given fi Fgure the perimeter wm
be:

- I
A
I
6
3
¥

14 cm.
11 cm.
10 cm.
12 cm.

(A)
(B)

(D)

The speed of a car is- 20 nieter/
second. It will travel 288 Km.
distance in :

(A) ' 2 hours
(B) '3 hours
(C) 4 hours

(D) 5 hours

If cost price is¥ 550 and éaies pricé
is T 600, then the profit percentage
is :

1
9
11

5__
it

g L
i1

3.1
11

(&)

(D)

“The volumebf'cub'oid is 1

(A) Length x breadth x height

' (B) 2 (Length + breadth) % height

(C) (Length + breadth) x he:ght
(D) None of these

[ Turn Overl:




51,
. 52
| 53,
- 54,
" (B) 8-65
55
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mﬁﬁmaﬁw (MENTAL ABILITY)

ﬁéﬂ(mmsmsﬁﬁ) YD
Wésar{ﬁw%ew%‘l B

qﬁm

(A) ¥TeT
(B) gedt
(©) T
(D) T

(A) U
(B) el
(c) &Rz

(D) EREUg

(A) RFRIA |
(B) BRI
(c) taema

(D) 8RER |

(A) 5—-26

(C) 6-37

" (D) 9-83

(A) T |
(B) W
c) w&

(D) IFE

S R e 7 el W e
_Wﬁmﬁﬁﬁﬁa%lﬁﬁﬁwaﬁ

51,

(D)

52.

D3«

54.

55.

(C)
" (D)

(B)

(A)
- (B)

S ®

Directions (Question No. 51 to
.55 ) : Four options are given in each

question. Three of them are similar
_in sorme way and one is odd. Find

the odd one.

MarS'
Earth -

(A)
(B)
(C)

Sun '

Venus

(A)
(B)

Punjab .
Delhi
Haryana
Jharkhand

Ranikhet
,Chakrata

Lansdowne:

(A)

(©)
(D) Haridwar
5~ 26
8 - 65
6 ~ 37
9 -83

(C)
(D)
(A) Januafy
(B) February
AMay
July




56.

. 57.

'58.

: 59

- 60.

3

Prer (s W 56 ¥ 60 AH)
- FrteRea vl O weares TR (P) 6
| I R T SRR R T Rwedt

ﬁﬂé’rﬁ?mw_aﬁﬁml

ﬁm;sqm‘réﬁ::ﬁﬁm:?-

S (A el

(B) ol
(C) 3MIRA
(D) WM

RGNV/19

56.

. B

Directions (Question No. 56 to.

.60 ) : In the following questions, .
~ select the correct option from the
- given -alternatives which replace

question mark (?).

Valmiki : Ramayan :: Tulsidas 1 ?
(A) Ram Charit Manas

(B) Mahabharat

(C) Rigved

(D) Sursagar

'Bédri_nafh + Chamoli :: Gangotri:?

(A) Rudraprayag

~ (B) Tehri Garhwal

58..

58.

60.

(C) Uttarkashi
(D) Pauri Garhwal

Eye : See ::-TOngue 1 ?
(A) Hear

(B) Feel

(C) Taste

» (D) Smell

Gujrati : Gujrat :: Udiya : ?
(A) West Bengal '
(B) Jharkhand

- (C) Chhatisgarh o

(D) Odisha

Goitre : Iodine :: Anaemia : ?
(A) Vitamin '
(B) Blood

" (C) Iron
(D) Protein

- [ Turn Over]




Frder (e wear 61 R 64 @) -
FrreferRa sl # oo sRaem AT A,
ST 35 SR v @ T o e Rt
¥ 3 il

. 61. 4,9, 16,25, 36, ....... o 61.

(A) 49
(B) 30
(C) 42
(D) 25

62, 11, 13, 17, 19, 23, 25, ....... | 62.

(A) 28
- (B) 29
(C) 30
(D) 26

63. 20, 21, 23, 27, 35, ......
(A) 46
(B) 51
(C) 43
(D) 49

o)
(8]

64. ABNO, CDPQ, EFRS, ........ i 64
(A) GHTU “
(B) HGUT
(€) HGTU
(D) GHUT

RGNY/18 . ,[ 14 ]

Directions (Question No. 61 to
64 } : In the following auestions a
sequence is given. Select the next
term of sequence from the given
alternatives.

4,9,16,25;36,";;_.
(A) 49 |
(B) 30

(C) 42

D) 25

11, 13, 17, 18, 23, 25, ... -
(A) 28

(B) 29

(C) 30
(D) 26

. 20, 21, 23, 27, 35, ......

(A) 46
(B) 51
(C) 43
(D) 49

. ABNO, CDPQ, EFRS, ........
(A) GHTU ' '

(B) HGUT
(©) HGTU

(D) GHUT




R

Rrder (uzst G 65 ¥ 66 D) ¢ Directions (Question No. €5 to

FrrfeiRad y==l & SRaeT & STel UE &l . 66 ) : In each of the following
- meﬁmﬁqmﬁm questions, choose that word which
ﬁﬁﬁﬂaﬁ?ﬁ/‘ﬂﬁﬁwﬁﬂw has the same relationship among
T A - ' the given three words-
65. GUTA, GOSN, USHT, «.oevnenes 65. Bhopal, Panaj-i,'Patna;' .......
(A) IHRR A A (A) Amritsar
(B) SeTETSTE. (B) Allahabad
(C) AR | (C) Raipur
(D) TEI&T (D) Baroda
66. ARG, TUmEd, f-\:ﬁr—na _' _______ , 66. Pithoragarh, Champawat, Nainital,
(A) fgiiﬁlq (A) - Haridwar
(B) 3EST (B) Almora
(C) Tetel o (C) Chamoli
(D) FTRBERIT (D) Uttarkashi
67. ot fod wiphis wH BAD B 214,  67. In a certain code if BAD is written
EGG &I 577 T ST & ar BAG &l as 214, EGG is written as 577 then
T S - BAG will be coded as -
(A) 271 L (A) 271
(B) 217 (B) 217
- (0) 721 - (C) 721
(D) 712 ; (D) 712
68. Trarwiske amrH DdgjﬁEpH B 68 In a certain code if DOG is written .
EHT-IT%E?[ CAT o1 Temar e - ' as EPH, then CAT will be ched as-
(A) DBU (A) DBU o |
(B) BUD (B) BUD '
(C) DUB (C) DUB
(D) TAC (D) TAC
RGNV/19 ' ' [ TurnOver]




69, UR4=A,5=B,6=CTN7 =D 69. If4=A,5=B,6=Cand7 =D

&, 'ﬁsf, 7654 forar sem- : ‘then 7654 will be written as -
(A) CDAB | . - (A) CDAB |
(B) DCAB | (B) DCAB
(C) CDBA . ‘ o (C) CDBA

(D) DCBA , : . (D) DCBA

70. ﬁﬁﬁﬂéﬁ@%ﬁ@ﬁmﬁ%ﬂaé - 70. How many total triangles are there

in the following figure?

(A) 5 - A)

, 5
(B) 6 . , " (B) 6
(C) 8 | ' . . | ' (C) .8._
(D) 4 = o (D) 4

71. 30 veew S R sl S S e ar 71. In the following words, which word

I 3T (WY a1E) & 3w - _ . will come last in English dictionary?
(A) . Electric . : | (A) Electric

.(B) Elector | (B) Elector ..
~ (C) Electron ' ' : (C) Electron

(D) Electrode ' (D) Electrode

72, ﬁm%ﬁgamsﬁ § & foe 9 g, 72. In the following numbers how

%ﬂésbﬁaaqgﬁamaﬁasmﬁ%w many 9 ,are precéded and
T & | - Succeeded by an odd number - -
589759739296596393 5897597392965963093
97 o | 57 -

(A) @ | - (A) Two

(B) 99 . ' (B) Three

(C) I , o ~ (C) Seven

(D) AR , _ | (D) Four

. RGNV/19 - S




§§kﬁqanﬂa§rﬁfawnaﬂvrgnr—
(A) 60°
(B) 300

v.'(C) 900
(D) 45°

74, S s a1y s 3 fore e dtei o
i < €, e € - '
(A) WERERT
(B) HRIERT
(C) SRR
(D) FF A @S T

- 75. %awﬁarﬂuarmﬂawﬁs
) T TER T BT Y F -
(A) SRR A
(B)
(C) =u=dl 9
(D) WFAH - .
- 76. e d Y o € oTER (5F) g -
(A) w9 - B
(B). T - f&R - 919
(C) T - Reger - Wed
(D) 3T - YT - T
RGNW;.Q:'

73.

awsoo gﬁa@rﬁmuﬁﬁwﬁ :

73,

74.

The angle formed by hour and
minute hands of a clock at
3:00 pm would be -

(A) 600
(B) 300
(C) 90°
(D) 45°

Living béings depend on only plants

~ . for their foocd are called -

75.

76.

(©)
(D)

(A

{D)

(A) Omnivorous

| (B) Carnivorous

(C) Herbivorous

(D) None of these

School is related ‘to student in. the
same way as Hospital is related to-

Doctor

(A)
(B) Nurse
Medicine.

Patient

Which one of the foilowing not
make a correct food chain - .
Grass - Buffalo — Elephant
(8) Grass - Deer - Tiger
<

Grass - Grasshoppef - Frog-

Grain - Rat - Owl |

{ Tura Over]




N

80. W?ﬁ?ﬁ?ﬁi{ﬂ@%@ﬁg%— 80.

ReNv/is EE

3;77 HHﬁ@'Q‘JHHSI(‘\@ﬁ%ﬁ)"ﬁ%“ e

(A) TS TR Heg - yafaRor

| (B) IO I - UHERIEOT
(C) ma@w R it
(D) ﬁﬁmﬁmﬂﬁmf ﬁ@as(mi%r

78, aﬁmﬁﬁ%?ﬂ%@aa‘ﬁmﬂr%ﬂ% - 78.

' Harldwar?

ERrS R e

(A) < o
(B) Rl wEaTTE o
(C) 9. SiRw ot i

(D) wn:?r‘\’méa’ﬁ

- 79. Wﬁﬁwﬁaﬁﬁéﬁqmw | 79.

RIS TR ésmﬁsﬁmm%‘?
() e

(B) s

(C) Bsal

(D) '1—“1@6

Which of the following is not
properly matched?

(A)"Chandl Prasad Bhatt -
Environment "
(B) »Bachhendri,Pai-Moun’caineeﬁng .

(C) SundarLal Bahuguna—-Politician

- (D) Girish Tiwari “Girda' - Writer

(Poet)
Who establlshed the’ 'Santlkunj in
(A) Swam'i Ramteertha Ji
(B) Swami Sahajanénd Ji

(C) Pandit Sri Ram Sharma Ji

(D) Swaml Ra' mdev Jl

Which city is known as 'Sarovar Nagri'

“in the Uttarakhand?

(A) Nainital
{B) New Tehri
(C)-Roorkee _

(D) Ranikhet

The biggest planer in our solar system '

s

(A) @ﬁqﬁr
(B) Wi
(©

(D) gear

(A) Jupiter
(B) Saturn
(C) Mercury

(D) Earth -
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TR 3R U Mok vd vgHarae g (?) 81 E@Wﬁm@%ﬂlﬁaﬁmmﬂﬁe
ﬁw%aﬁsﬂwﬁmﬁﬁrﬁ%lmﬁ%(? F W W I Y 3NHIT STRAT, TR
sicrl § 1 gl -

Darectnons (Question No. 81 t0 85 ) : In problem ﬁgure two fi gures are there in the

81.

- 82.

- 83.

84.

85.

left of the sigh of proportionality (::) and one figure and a question mark (?) are
to the right of it. There should be the same relationship between the two figures
of right hand side as it is between two figures of the left hand side. Choose the

" appropriate Fgure from the answer ﬁgures Wthh replaces the question mark ('-’)

HHE 31@‘% (Problem Flgure) o K ST@% (Answer Figure)

@ ® © o
WW (Problem Figure) = 3R MBI (Answer Figure) '

AEaHEE] [ R

| o mw e ®m © O
R 3TBIT (Problem Figure) . R STPR (Answer Figure)

O':-'@:: |2 A 1 | | <

@ ® - © O

maﬂ@% (Preblen'l Figqre) FR API (Answer Figure) - l
| s n oo o ? ' . = : , :
(A EOE 2] IAO 1O
w  ® . © O
WT«’]TST@% (Problem' Figure) W%@% (Answer Figure) -
Wx :,XW'Z‘.’ Uv 20 v ||w | |vu | |uv

@ ®  © O
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E’ssrectmns (Question No. 856 to S0 ) : Thereis a proble“n ﬁgure in the left sue and
-answer figures are in the. nth side. Choose the similar figure as problem ﬁgure
from the answer ftgures

/fa/ T STIBIT (Problem Figure)

3?‘? SW (Answer Fngre)

@\\

Py

§7. AT 3BT (Problem Figure)

=

A

é;x

A

(B)

(C) |

PSR 311@‘% (Answer Ficure)

/@

N

W =) ,\ - N
- | | (A) (O oy
?8/ GETAT STBIT (Prob!em Figure) TR 3%@1 o (Answer Figure)
o w2 N AN A ,
S T (A) ®  ©
C ;9/ SR BIRBRT (Problem Figure) v _ FHR 3!‘@% (Answer Figure)
;c«_»\.Q@“O v%}éﬁ@v@oéﬁ:
_ : D -
| ) ® . (© (D)
' //90/ WST@‘% (Problem Flgure) | E?R‘ 311@‘3% {(Answer Figure)
L | (A) (B) (© (B)
., RENV/1D ' ‘ ot




odd figure.
LA = ][O
}' ‘ (A) (B) ' (©) . (D)
- =[O] Dl A
@ - - (B © (D).
93, kg 3K | N *++* : . *++*
GV R (B) | ) (D)
AA A AT P N ‘?A A
o4 | I mnmng pumn
:‘;V y 74; v ¥ V‘; <¢ W’; < 3>
(A) - (B) © O
RGNV/19 o : | .. [TurnOver] ..

o e e 91 < 04 ) « e sl e g€ 1 3 2y e o o
o =g €, g v e (o) &1 R gl @ el

Directions (Question No. 91 to 94') : In the following questions, four figures are
given. Three of them are similar (alike) in a certain way and one is odd. Find the




given which is incomplete. Find th
whicn complete problem figure.

95. WZIWTBT@% (Problem Figure)

4 ]
~ .

P (72 < 96 1 97 i) - P et o e st 7 €, Foror v s ot/
- & IR it # fow e foeed! § & et fesew gfie S W sk @ R axar 8

- Pirections {Question No. 95 to 97 }:In the foIAI'ow'ing questions, é.problém figureis
e correct alternative from the given options

R ST@% (Answer Figure) 'v

A

96. W@Tﬁ?ﬁr (Pi‘oblem Figure)

(A)

(B) (C) (D)

A MBI (Answer Figure)

(A)

97, WST@% (Problem Figure)

(B) © O

R 3BT (Answer Figure)

/

.\

(A)

‘RGNV/19

(B) , () (D)

s

\
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Py (sreer wiesTm 98 9 100 T) - ﬁm%ﬁaawﬁﬁaﬁsmwax@%ﬁa%xg@mﬁﬁ
&1 sieen 3 ara T weeErEs RS (?) m%lrwﬁﬁ@ﬁmqﬁuﬁw
 3IeT e Al Y IXT BeH &1

bnrectmng (Queﬁtmn Mo. @8 to 10@ } : In the foliowing questions, a series of
" problem figure is given left. At the end of series there is a question mark (7).

o Choose the ﬂgu}re from answer figures to complete the series of problem figure.

a8, W AP (Problem Figure) TR 3MkT (Answer Figure)

[HEE] HEE

W ®  © O

%
A

< (il
L a4 st
¥

99. WHEIT 3NPRT (Problem Figure) IR 34@% (Answer Figure)

OalE][z] [©]lg]la

W ® © O

' 1',00.@3{'\‘?3‘?3?@% (Problem Figure) L ﬁ?%‘% (Answer Figljre)

Y
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